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The diode in the circuit shown in Fig.(1) has VK =0.7V.
Calculate and Plot Vo(t) for Vs(t) =3 sinwt V.
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Calculate and plot Vo(t) for the circuit shown in Fig.(1-a) for the input voltage shown in
Fig. (1-b). Assume the diode is ideal.
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The BJT in the circuit shown has § = 120

a) Calculate ICQ

b) Calculate VE sL

c) Calculate VB L/:.-——é—-

d) Verify that the transistor is in the active region
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For the circuit shown
a) Calculate the lower and upper threshold voltages

b) Based on results in (a) sketch Vo(t) as a function of Vs(t) (Hysteresis)
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The op.amps in the circuit shown ae ideal
a) Calculate Vol

b) CalculateVo2

20KN B .
» A
L. e N <
>, : -
~ —_— ¢ re— " P
i Y 1 ".)r\_ D
‘ - [ Loy ™ ;‘N g T,
] L i . e AS . : . ‘\‘& ; . . P . -:. R
o S W A St RS RN b LTS S e 4y, '

‘ v, “y - . - e > - ‘\

Fa Opl"' 2L o ™ SOK‘) > ! AT IY Py, O /|

: o B AT L, L Vo2

CAN L M MR wa N \ 0 2 <

. . - 85 " o 4 o’ - ’
.‘ - " -~ . - > » . A"’- » ; ‘\.. K .. '
., "‘I‘ ) e - " . \,/ : ; ."l ".~‘." g ) "/
e - v o
. >~ - : >l - »
" ” S o : SR
o g -

=1
o)
O
5
S
O
2

. P
: . Vol | €% - e o P »‘?
5 > /T
, = 10kQ S| * Sst 1ol

(‘Cj,‘aw & ot (-
Jdd) = A ) ey - )
JQ) = 6.5 Ut ph i Janlas
.l &) 2
2 J(‘) - 6.5 Uo“’. = )
'r|2' — 5 S — o085 A
I: ‘2-:2__ oo‘LﬁMA 56 K S0 k.
QOK IL? (o B% - 0.0\ Mﬂ
&
'\roi 2 I( 90/"*2'0‘2) £, @ 0.0l mp
La. Sy iy

_———_———M___

Name: ID:

STUDENTS-HUB.com Uploaded By: Mohammed Saada

! Scanned with |


https://v3.camscanner.com/user/download

